(2) BOD, COD., &%z, &, &ih., /=1r7=/—),
LAS (HSET/ILXNALRP o RAVRVEERNFORE) O U ERIR
7 OBRBEUEE AR

a BOD 3l (AT © mg/L)
RS TIID | WREEESL R 26 i E 27 A B
K4 S WA = 750 | = W A ¥ 75%fiE
FEIBI(1) W& A ool 12712 = 100 1.oJo7] 12,712 = 100] 0.9
) R B Joo] 12712 = 100l t.o]1.1] 11 712 = 92 1.2
k) R TEH A Joe| 12,712 = 100 0.7 0.6 12,712 = 100 0.6
AN PN A o8] 12712 = 100/ 0.8 J0.7] 12 712 = 100 0.8
I T (2) = aiE A Lo 12712 = 100 1.1 ]0.9] 12,712 = 100] 1.0
PRI Byt (1) [HHET 4 A Joe] 12712 = 100l 0.5 Jo.6] 12 712 = 100] 0.7
IR AONEESR A Jo7] 12,12 = 100 0.7 0.7 12,712 = 100] 0.8
M| Rk G A Jo7]l 1111 = 100l 0.9 Jo.s8| 12 712 = 100] 1.0
AEII(2) TS A |13l 1012 = 83 1.e]1.1] 12,712 = 100] 1.2

PN A Jool 12712 = 100l 1.o Jo.s8]| 12 712 = 100 0.9
A (3) KB A ool 12712 = 100 1.oJo8] 12,712 = 100] 0.9

ENESlE ER A 0912 712 = 100 1.0 Jo.7] 12712 = 100 0.8
BB B [ ZEE AAJ0.6] 12 712 = 100] 0.5 ]<0.5] 12 ~ 12 = 100] 0.5

MEZH A Joe6] 11 711 = 100] 0.6 [<0.5] 10 710 = 100] <0.5

DYNELG A Jose| 12712 = 100 0.5 Jo.5] 12,712 = 100] 0.6
HEJT |G A o7l 12712 = 100/ 0.6 Jo.6] 12712 = 100] 0.6

WEE A Jose| 12712 = 100 0.6 Jo.6] 12,712 = 100] 0.6

B A |14 8 12 = 67l 2.1 Jo.7] 12712 = 100] 0.7
Lgspl| AR G A Jose| 12712 = 100 0.5 Jo.6] 12,712 = 100] 0.5

N A Jogl 1212 = 100l 0.7 Jo.7]| 11 11 = 100] 0.9
)1 ARG B 0.8 12712 = 100 009 J0.7] 12712 = 100] 0.8
NI EiR - mmmsisa | A J o8 11 11 = 100f 1.2 Jo.6] 12712 = 100] 0.6
SN FEE /NS A o7l 1212 = 100 1.oJoe] 10,10 = 100] 0.6
] — B |15] 1010 = 100 2.1 ] 1.6 8 /8 = 100 1.8
BB R = AAJo6] 12712 = 100]<0.5]0.6] 12,712 = 100] <0.5
FEITH EE A Jo7]l 12712 = 100l 0.7 Jo.6] 12,712 = 100] 0.6
JETE)| EEE AA [<0.5] 12712 = 100/ <0.5]0.5] 12,712 = 100] <0.5
H R WA A Joe| 11711 = 100l 0.7 Jo.5] 11 11 = 100] 0.5
HEII < H A A Jos| 12712 = 100]<0.5]0.5] 12,712 = 100] 0.5
eI A A 0.6 6 /6 = 100 0.5 Jo.6] 1010 = 100] 0.6
Kl DAGE A Josg|] 1010 = 100 0.9 o.6]| 12,712 = 100] 0.6
A5 )| HE TG A 1ol 12712 = 100l 1.2 Jo9f 12712 = 100] 1.0
TR [ A o7l 12 712 = 100l 0.8 Jo.6] 12 712 = 100] 0.6
Tl B A o6l 12 712 = 1000 0.5 J0.5] 12 712 = 100/ <0.5
Gl TR KAB A Jos5] 11,11 = 100]<0.5]<0.5] 12,712 = 100] <0.5
Rl HEAE A 0.7 9,9 = 100l 0.8 Jo.6| 11 11 = 100] 0.6
AR E NG A Jos5] 1111 = 100]<.5]05] 1111 = 100]<0.5
NG NG A J1o] 1010 = 100l 1.o Jo.9| 1010 = 100 1.1
) /NEAE A lo7] 10,10 = 100 0.9 ]0.6 6,6 = 100 0.7
LBl LRl A Joe6]| 12712 = 100l 0.6 J0.6] 12 712 = 100/ 0.6
ol KNG A Joe| 12712 = 100]<0.5]05] 12,712 = 100] <0.5
= = )14 A Jos] 12712 = 100] <0.5]<0.5] 12 712 = 100 0.5
FHEAI AR A Joe| 12,712 = 100 0.6 Jo.6| 12,712 = 100] <0.5
113201 —L) |G A 0.5 9,9 = 100[<0.5]0.6] 12,712 = 100] 0.5
KF)I O A Jos| 11711 = 100]<0.5]0.5] 11 711 = 100]<0.5
Bl G A Jogl 1011 = 91]09]oe]| 1010 = 100 0.7
=1 FIE A Jos5] 12712 = 100] <0.5]<0.5] 12,712 = 100] 0.5
a2l oo A o6l 12 712 = 100l 0.5 Jo.6] 12 712 = 100[ 0.7
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b COD ) (B : mg/L)

AL T | B S4L ¥ 26 A (3 27 . i3
K3 U IE2Z] R 5%E ] FIEREES 75%{E
SRR (1) AL S A 2.3 2,/ 6 = 33] 2.4 ] 2.0 3,/ 6 = 50 2.1
5 2 A 1.8 4, 6 = 67| 2.1 1.8 5,/ 6 = 83] 2.0
SRR (2) XX g BHAE A 1.7 5, 6 = 83| 2.0 1.5 5,/ 6 = 83| 1.7
TR B HL A 2.1 2,/ 6 = 33] 2.2 1.9 5,/ 6 = 83] 2.0
N N NN R A 1.5 6,/ 6 = 100| 1.8 1.5 6,/ 6 = 100] 1.5
BB i 5t A 2.0 3,6 = 50] 2.2 1 2.0 4,/ 6 = 67] 2.2
=TIV PN B 3.8 1/ 12 = 8l 4.1 3.7 2/ 12 = 17] 3.9
faf &% I [ B 3.6 3,/ 12 = 25| 4.0 3.4 4,12 = 33] 3.6
1 R A B 3.5 5/ 12 = 42| 3.8 3.3 3,/ 12 = 25 3.5
EEREN A 2.2 2/ 4 = 50 2.5 1.9 3,/ 4 = 751 1.9
O W RS A 1.8 3,/ 4 = 75| 1.9 1.6 3,/ 4 = 75| 1.4
B A 1.8 3,/ 4 = 75| 1.5 1.3 4,/ 4 = 100 1.4
1L i )1y A 1.4 4,/ 4 = 100] 1.8 1.5 4/ 4 = 100] 1.5
R A 1.5 4/ 4 = 100] 1.7 1.7 3,/ 4 = 751 1.9
e 50 S A 2.7 1./ 12 = 8l 2.8 2.6 1,/ 12 = 8l 2.9
V25 B A 3.3 0/ 12 = ol 3.4 ] 3.2 0/ 12 = o] 3.5
c AEEZNOEEE (EFE)
(223%) (HAL : mg/L)
B HTITD | BEEEuES4L ¥ 26 i i 27 AR g
KA vl ¥ WA F N3] W A X
AL B 0. 29 5,/ 6 = 83 0.21 5,/ 6 = 83
RRS (7)) [ il 0.18 6,/ 6 = 100 0.18 6,/ 6 = 100
SEH 0.24 | 11 /12 = 92 0.20 | 11 /12 = 92
XX g B 0.16 6, 6 = 100 0.15 6,/ 6 = 100
TS (1) |EREE T II 0. 20 6, 6 = 100 0.19 6,/ 6 = 100
SEH 0.18 | 12712 = 100 0.17 | 12712 = 100
VLR Hi 5 0.14 6, 6 = 100 0.13 6,/ 6 = 100
wOE S | ERe Il 0.22 4,/ 6 = 67 0.24 5, 6 = 83
SEH 0.18 | 10 /12 = 83 0.19 | 11 /12 = 92
95 AR 0.49 2,/ 6 = 33 0.61 0,/ 6 = 0
far &% I [ II 0. 34 3,/ 6 = 50 0. 27 5,/ 6 = 83
18 R A 0.34 3,/ 6 = 50 0.29 5, 6 = 83
S 0. 39 8,/ 18 = 44 0.39 | 10 /18 = 56
5 O 0. 25 5,/ 6 = 83 0. 20 6,/ 6 = 100
AR TR I 0. 28 5,/ 6 = 83 0. 29 4,/ 6 = 67
S 0.27 | 10 /12 = 83 0.25 | 10 12 = 83
(4%) (BT : mg/L)
RS I | BREEHEuE N4 $H 26 . B 27 A i
KA, i Y WA E L) oA P
AL B 0. 022 6,/ 6 = 100 0.018 6,/ 6 = 100
BRSE (7)) [kt m |o.019 6,/ 6 = 100 0.017 6,/ 6 = 100
SEH 0.021 | 12/ 12 = 100 0.018] 12/ 12 = 100
XX g B 0.016 6,/ 6 = 100 0.014 6,/ 6 = 100
BEEVE (1) |EREE T I [0.017 6,/ 6 = 100 0.017 6,/ 6 = 100
SEH 0.017 | 12/ 12 = 100 0.016 | 12,/ 12 = 100
VLR Hi S 0.015 6,/ 6 = 100 0.013 6,/ 6 = 100
wOE S | BRHe m |o.o17 6,/ 6 = 100 0. 020 5,/ 6 = 83
SEH 0.016 | 12/ 12 = 100 0.017| 11 / 12 = 92
B ) PR 0. 043 2,/ 6 = 33 0. 042 3,/ 6 = 50
faf &% I [ o |o.021 6,/ 6 = 100 0. 024 5,/ 6 = 83
18 R A 0.019 6,/ 6 = 100 0.031 4, 6 = 67
RS 0.028 | 14/ 18 = 78 0.032 | 12/ 18 = 67
5 O 0.018 5,/ 6 = 83 0.018 6,/ 6 = 100
AR TR o |o.022 5,/ 6 = 83 0.023 4,/ 6 = 67
RS 0.020 [ 10 7 12 = 83 0.021 | 10~ 12 = 83




d sy, /=17 /=LKL AS OKEEYOERITIR A BEEEH)

(2HE) (AL : mg/L)
B G Tl | BREEHENE AL HEIR 26 3 B 27 4 E
Kk RE2) ﬁ/ & B N2 WA ¥
; [ESRia 0. 003 2,/ 2 = 100] 0.002 2,/ 2 = 100
el Ve || 24 EM B 0.003 4,/ 4 = 100] 0.003 4,/ 4 = 100
1 e (D PATE A AL 0.001 12 /12 = 100] 0.001 12 /12 = 100
1 B (2) | UEA A8 B | 0.002 2/ 2 = 100] 0.003 2,/ 2 =100
) i (1) |78 KA EB | 0.001 2,/ 2 = 100 0.003 2,/ 2 = 100
)1 T (2) | = Hite BB | 0.010 4/ 4 = 100 0.011 4,/ 4 = 100

HETEAE 0. 007 2/ 2 = 100] 0.006 2,/ 2 = 100

5 e AMCKHE 0. 004 2,/ 2 = 100] 0.007 2/2 = 100
AHIF EAKAG =B 008 2 2 = 100 0.006 2/ 2 = 100
A == 0.003 4 /4 = 100 0.004 4/ 4 = 100

B ERE  [ZEE WA | <0.001 4/ 4 = 100 0.001 4 /4 = 100
ERG 0.001 4,/ 4 = 100 0.003 3/3 = 100

DUNELS 0.002 2,/ 2 = 100] 0.001 2,/ 2 = 100

HREJITH [ E e B | 0.002 2 /2 = 100 0.002 2/ 2 = 100
I EAE 0. 002 4/ 4 = 100] 0.002 4,/ 4 = 100

NS 0.021 3,/ 4 = 75| 0.008 4,/ 4 = 100

() =)V 7 x)—)L) (A : mg/L)
RS T | BB SL FE 26 3 3 27 4 e
Kk RE2) ﬁ/ & F NE2) WA ¥
; fEoCiE <0.00006] 2 2 = 100]<0.00006] 22 = 100
T TE) B SEAE £ B <0.00006] 4.4 = 100]<0.00006] 4 "4 = 100
I AONISENG A 1<0.00006] 474 = 100]<0.00006] 4,4 = 100
) B3 (2) | A B <0.00006] 2 2 = 100]<0.00006] 2 2 = 100
SN AONIEERS B <0.00006] 2 2 = 100]<0.00006] 2,2 = 100
B T (2) [=HifE B <0.00006] 4 4 = 100]<0.00006] 4,4 = 100

HERAE <0.00006] 2 72 = 100]<0.00006] 2 2 = 100

5 e AMCKHE <0.00006] 2 2 = 100]<0.00006] 2 2 = 100
AHIF EV R =B o 00006] 2 2 = 100]<0.00006] 272 = 100
AT =4 <0.00006] 4 74 = 100]<0.00006] 4 "4 = 100

BB By [Z9iE A 1<0.00006] 4 74 = 100]<0.00006] 4 "4 = 100
eI <0.00006] 4 74 = 100]<0.00006] 3 3 = 100

PYNEL <0.00006] 2 2 = 100[<0.00006] 2.2 = 100

BT [ E e B [<0.00006] 2 2 = 100]<0.00006] 2 2 = 100
W 2EAE <0.00006] 4 4 = 100]<0.00006] 4,4 = 100

EENERINES <0.00006] 4,4 = 100]<0.00006] 4,4 = 100

(LAS) CHAL : mg/L.)
BRLTED | pgeseig | g 26 4 i PP i
Ik A = 1) iﬁ/ & F %) ﬁ/ &

S ouhE <0. 0006 2,/ 2 = 100] <0.0006 2,/2 = 100

el YE) G B <0. 0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100
IR (D ATUE A | <0.0006 4 /4 = 100] <0.0006 4,/ 4 = 100
I Ei (@) VAR £ B | <0.0006 2/ 2 = 100] <0.0006 2,/ 2 = 100
SN AONIEER E#B | 0.0006 2/ 2 = 100] 0.0009 2,/ 2 = 100
I T () |'EHiE B | 0.0006 4 /4 = 100] 0.0010 4,/ 4 = 100
T 0. 0042 2,/ 2 = 1001 0.0022 2,/ 2 = 100

5 P SN <0. 0006 2/ 2 = 100] <0.0006 2,/ 2 = 100
AHITF o ER B 0 00s T2 2 = 100/ <0.0006 | 272 = 100
AR | =4 <0. 0006 4 /4 = 100] 0.0008 4,/ 4 = 100

BB [Z5E Al 0.0007 4,/ 4 = 100] <0.0006 4,/ 4 = 100
L ZEHE 0. 0006 4,/ 4 = 100] <0.0006 3,/3 = 100

PYNEL: <0. 0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100

BT [ E e A B | <0.0006 2 /2 = 100] <0.0006 2,/ 2 = 100
W EE <0. 0006 4,/ 4 = 100] <0.0006 4,/ 4 = 100

EENEINE <0.0006 | 4 74 = 100] <0.0006 | 4 74 = 100

() /=7 x ) — W TPRR2A4E8 H 22 A AR BEA R 127 512 L W BRI S IC BN S N E Lz,
(B) L A SIZ 2543 A 27T HATBREEA SR 30510 K v BRI B EnE LT,




